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1.Which component gathers historical metrics from all Presentation Servers on a daily basis and 
forwards the data to the Summary Database? 

A.Data Collector 

B.Farm Metric Server 

C.Database Connection Server 

D.Summary Database Collector 

Correct:C  
2.Scenario: Brook Bank & Company purchased a new accounting application to improve their 
employees' efficiency and help make the company more competitive among the leading 
accounting firms in Mans County. The IT administrator of Brook Bank wants to know the resource 
requirement of the new application that has been installed in their pilot environment. This 
information is available in a report. Which console can be used to generate the report? 

A.Access Suite Console 

B.Presentation Server Console 

C.Microsoft Management Console 

D.Resouce Manager Web Console 

Correct:A  
3.How can a Network Administrator use Resource Manager to monitor Presentation Server 
problems without using the full status display screen? 

A.By using the Resource Manager Alert tab 

B.By using the Resource Manager Reports tab 

C.By using the Resource Manager Watcher tab 

D.By using the Resource Manager Properties tab 

Correct:C  
4.Scenario: You have deployed a new mapping application that is to be used by your Sales and 
Marketing department to track customers and sales leads by zip code. Because the application 
was inadvertently made available to all domain users, you see that a few people other than Sales 
and Marketing users are accessing the application. You learn that your company purchased only 
50 user licenses; this is sufficient only for Sales and Marketing users. When you approach your 
manager regarding licensing compliance, he advises you that because typical usage is only 
approximately 30 users, it is acceptable to allow all domain users to continue to access the 
application with the current number of licenses. However, he asks you to monitor the usage and 
ensure that no more than 50 instances are open at any time. Which two actions should you 
perform? (Choose two.) 
A.Limit users to only one instance of the application. 

B.Limit the number of instances allowed in the server farm. 

C.Create a Resource Manager published application and use the Count Metric. 

D.Use Presentation Server policies to limit the total number of concurrent sessions that a user can have 

running at the same time. 

E.Limit users to the Sales and Marketing group during business hours, and allow all domain users to have 

access after business hours. 

Correct:B C  
5.Scenario: An administrator wants to adjust the threshold for a specific alarm setting for Page 
File utilization. The value in the yellow threshold field will be changed from 40 to 50 and the value 
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in the red threshold field will be changed to 60; this action will result in the red threshold having a 
higher value. How can this be done? 

A.By right-clicking the desired metric and selecting "Properties" 

B.By opening the Event Log Consolidator and changing the alert settings 

C.By clicking the server farm node and editing the farm properties settings 

D.By expanding the Resource Manager node and double-clicking the desired metric 

Correct:A  
6.What may cause Load Manager to distribute load incorrectly? 

A.Data store update rate 

B.Data collector update communications 

C.Database Connection Server update rate 

D.Farm Metric Server update communication 

Correct:B  
7.Which command is used from the command line interface to validate the integrity of the data in 
the data store database? 

A.DSVALT 

B.DSVIEW 

C.DSMAINT 

D.DSCHECK 

Correct:D  
8.Scenario: Users in the Toronto office are complaining that print jobs directed to network printers 
take a long time to complete. Bandwidth to this office is nearing saturation, and a network 
upgrade will not be completed for several months. In the interim, how can you improve the user's 
printing experience? 

A.Printer bandwidth should be set to 20 Kbps for all servers. 

B.The Printer Properties Retention policy should be enabled for roaming profile only. 

C.Printer bandwidth should be set to 20 Kbps through a policy for all Toronto-based computer IP 

addresses. 

D.The Print Job Routing policy should be configured so that users always connect indirectly as a client 

printer. 

Correct:D  
9.When using ICA Priority Packet Tagging, the __________ would be used to change the ICA 
session priority based on the virtual channel data being transmitted. (Fill in the blank with the 
correct option.) 
A.Windows Registry 

B.Access Suite Console 

C.Citrix Connection Center 

D.Citrix Management Console 

Correct:A  
10.Which ICA optimization feature can be used to ensure that the client session is not 
disconnected from the server when the client loses connectivity? 

A.ICA Keep Alive 

B.Smooth Roaming 

C.Session Reliability 
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D.Auto Client Reconnect 

Correct:C    


